b Profeiinl PROFESSIONAL EXAMINATION BOARD
Bb@mminqtion Middle School Teacher Eligibility Test - 2018
board 06th Mar 2019 09:30AM

Topic:- Child Development & Pedagogy (CDP)

1) The Socratic method is known as: / §&relt fafr & feer & @ B dlk W s S &
1. Discussion method / foaR-faast fafy

2. Question- Answer method / IR fafr

3. Lecture demonstration method/ ITEAT e fafer

4. Inquiry method / adis fafer

Correct Answer :-

« Question- Answer method / U fafdy

2) Law of Exercise stresses the importance of in learning. / 3318 &1 forgs rfQere q
% HAgcd W oo T ¢

1. Reward / QU&PR

2. Readiness / dcUdr
3. Practice / I¥ITH

4. Impact / GHTT

Correct Answer :-

o Practice / I¥IH

3) According to Carol Dweck’s Mindset theory, an incremental view of ability means . B

F F AR F T F AR, &AaT F T 68 2T F AdAT gl
1. a stable and uncontrollable trait. / Teh f&UT 3R FFIHT fAdwarn)

2. a characteristic of an individual that cannot be changed. / Uh It HY AAuar FE dear F@' ST Hohdl

.y



3. a set of intellectual capabilities a person possesses. / g &THATIT P Th dAzg S T Ik &
urE Bl B

4. an ever expanding repertoire of skills and knowledge. / pierel 3R AT FT TH ﬁﬂ—_cl?f e |

Correct Answer :-
« an ever expanding repertoire of skills and knowledge. / Pigrel 3R AT T TH ﬁw frEar|

4) According to Piaget, children experiment with sounds during the /e & AR, T
¥ che eafeal & @y waer w3 €

1. Preoperational stage / Uﬁw (ﬁl’r\’rﬁW) SHART
2. Concrete operational stage / #FJ TfhdTcA® (Fhic ATURRAAS) IaEAT

3. Formal operational stage / 33T GihaTcA® (WidTel JTURRAS) IaTAT

4. Sensorimotor stage / €4l Ueh 37eaeAT
Correct Answer :-
 Sensorimotor stage / FIGI IR 3TTEAT

5) Why is the learning environment important for active learning? / G 31f@erer & faw rfdereT &1

afder Fai eyt &2
1. To build knowledge through collaboration. / TEIAWT P ATECIA T A h ApfAad s & o |
2. There are no assessments. / Ehélé' Jlhold Flﬁl

3. There is no need to engage with the content. / GTHIT ¥ Tford A &I TaIRAT T &

4. It uses multiple resources. / I H5 FATIAT HI YT AT &l

Correct Answer :-

« To build knowledge through collaboration. / TS & FATCIH & AT Bl ARAT I & forw |

6) Which of Erikson’s stages of psychosocial development typically occurs in adolescence? / TR&FHT Y
oS e & wia @ sarar Rftse @ & Fakaea & < 2

1. Identity vs. identity confusion / Ugdld JelTH Ugdlad Hifd

2. Generativity vs. stagnation / STeellcHddl deltd EARAT
3. Trust vs. mistrust / TTATH T 3faara
4. Intimacy vs. isolation / Gfa8dT daTH faeeaar



Correct Answer :-

o Identity vs. identity confusion / Ugdld IITH Ugdl Hifad

7) Which of the following is least likely to be a sign of depression in adolescence? / fFaiRTaEdT # AT
# ¥ W UG F1 GHA @R Y WA §?

1. Sudden drop in marks / 37 # 3R FR@T
2. Missing classes / @& # IR TR &=

3. Withdrawing from friends / Gl & §T &eall
4. Changing friend groups / TR GHgI Pl aeram
Correct Answer :-

» Changing friend groups / 8T HHgl &I agara

8) Which of these statements best describes the ‘Law of Readiness’ according to Thorndike? / 4T=iss®
F AR 398 F FIT-UT FIF ‘TeRAT AIH FT TGO ST qoieT Far 82

1. It means that drill or practice helps in increasing efficiency and durability of learning. / g&aT 31 & 6
TfAETOT AT 7T T hr geTar IR TATRcT Pl T H A T &l

2. It means that preparation or disposition of the subject contributes to learning. / g&a®r 3F & 5 fawr &
SO I1 THE WA F AeeE &ar

3. It means that the organism changes its response till an appropriate behavior is hit upon. / g&e®T 31 Ig &
fF T 3UYH AIER & UeR B db SNd I 9fARAAT ggerar ear

4. It means that trial and error leads to connections being formed. / 3&#T 3 & 6 wara 3 3fe & dror
T I B
Correct Answer :-

o It means that preparation or disposition of the subject contributes to learning. / g&®T Y & 5 fawy $ir
IRy I Taeg T F AreE AT ¥

9) The ability to think rationally and act purposefully is .| THEEIT T F e A’ segeat
aF F FF F& N aTHAT gl

1. Reasoning / d®

2. Perception / 3fffd
3. Intelligence / gig

4. Creativity / TdalcHDAT



Correct Answer :-

+ Intelligence / g

10) The term Bandura used for explaining, overall process of social learning is . EI§T[ a d@a i
AT WHATSS IR F gHA F AT fFw gg w1 w2 R § I

1. Self-efficacy / 3TcH-THTGRTRAT

2. Conditioning / 3icIpeled

3. Vicarious reinforcement / YcI{AHd Udeled

4, Modelling / gfasgor (HAisfem)

Correct Answer :-

« Modelling / gfawuor (FisferT)

11) are considered to be the most important factor in students’
achievement and successful implementation of inclusive classroom./ &I

fagamft it suafeer i wwmael Fa1 F g6 FRATTadT 7 FaH AgaqUT FRS
msnr-n%l

1. Teachers / fr&T®
2. Principal / U
3. Supervisor / TideTdh
4. Counselor / HellgehX
Correct Answer :-

o Teachers / 18T

12) Which of the following theorists believed in the role of biological maturation in the
development and learning process? / Fafaf@d d ®19  RigideR fAeare v siftrm #t
wihar A Sfaw ufvusar $t YfireT w® iy sa &2

1. Kohler/a§|61
2. Skinner /f&haR

3. Vygotsky / AT
4. Piaget / TOaTSt



Correct Answer :-

» Piaget/ PRI

13) Reasoning is studied under ./ & Sideid difberd &7 3reag= fohar wirar 21
1. Social development / AT aepra

2. Cognitive development / T<ATATcHAD T

3. Physical development / QMITReh Tdepr

4. Personality development / <dTthed Tdepra

Correct Answer :-

« Cognitive development / HITATcH® Tahrd

14) Child development refers to the ; and changes that
occur in human beings between birth and the end of adolescence. / 919 faprg T aread

, iR TRad= A 8 &l A7 & o 3R fPURawT & 3id &
da e g

1. Biological, Psychological, Emotional/ ﬁﬁﬁﬁ, Hﬁﬂ?ﬂﬁ?ﬁ, HATIATHD

2. Qualitative, Empirical, Quantitative/ I[OTIcHD, AT, ATATcHD

3. Childhood, Adulthood, Adolescent/ TTU, TIEHT, fhAR

4. Infancy, Early, Late / S0, STeqr, X &

Correct Answer :-
+ Biological, Psychological, Emotional/ SIfde, FAII_AASh, HTa=TcD

15) India signed the United Nations Convention on the Rights of Persons with Disabilities
(UNCRPD) in which of the following year? /

HRd A fapein aafeadl & frpRI g WY TP W (UNCRPD) W = d & fory af &)
TR P2

1. 2006
2.2007
3.2008

4. 2005



Correct Answer :-

« 2007

16) Gifted children are good at / UfdHTRITeN 9= fbe HeH & 9gav 814 82
1. All of the above / m'!iﬂ? g

2. Ability to quarrel with others only / Dhdol 3T & 1Y BT IA Dl JoIT H

3. Ability to solve problems only / hdel HHEITHT Pl ol Il hI ATTAT A
4. Ability to help teacher only / %ad fR1&/® & TeAdl B &I Aaar J

Correct Answer :-

« Ability to solve problems only / chdel THEII Pl T P I JIAT H

17) Abraham Maslow propounded which of the following theories of motivation? / 3[dIgH

AT A Ron & Fafafead Rrsidl & @ et ufvufia fear
1. Humanistic Theory/ HTAGAEITAEd

2. Incentive Theory/ UXeh fgid

3. Drive Theory / 3134 f&rgid

4. Expectancy Theory/ 3081 g

Correct Answer :-

« Humanistic Theory/ ATTIdTe [ AgTd

18) What are some ways to help children develop problem-solving skills? / =

# U as™ & PR e Rid $31 § Hag H1 & $O aild 182

1. Be a helicopter parent — do not give children space to make mistakes. / U® SUIPITR
HYUTaH & - Tl DI TAfAAl B DT IR A ¢

2. Avoid giving children the chance to make tough choices. / g Bl Sffcd fddhed g-Id ol

HipT ¢ 9 &
3. Make problem-solving a fun part of the culture of your home. / GHI-HHTYUTT CARCIERSRY

DI IIHId BT T TolgR fgwr s

4. Children must be protected from experiencing failure. / g<al Pl BT BT JTHAT TRA &

IATET ATRT|




Correct Answer :-

« Make problem-solving a fun part of the culture of your home. / SHIT-THTYTT P 3T W

DI G DT Th AWGR fgw T 17|

19) In Freud'’s view, development is a process. / WIgS & fdUR #, fder™T
THs_ ufpargl

1. Continuous / faax

2. Random / T TSh

3. Active / Gfshd

4. Discontinuous / 3R

Correct Answer :-

« Discontinuous / 3Taa<

20) What type of forgetting occurs when information in our memory stops us from recalling

other information that is also stored in memory? / SId s'mﬁ Fﬂﬁ' A ISR Eﬁ' F«Hﬁ' "
maﬂamrﬂaﬁmm#mrcﬁ%a?mmaﬁrma?ﬁ%?

1. Decay / Udd
2. Delay / fdeld
3. Cue-dependent forgetting / Hohcl-3TIRd Hel

4. Interference / 3TdY

Correct Answer :-

« Interference / 37aAY

21) What type of a learner is one who learns best by watching movies or documentaries? /
tF frendt st freat ar qafeEt # dua we reoT Waar § a8 FH vaFwR w1 famft
e?

1. Aural / PUHFIHT
2. Kinesthetic / UTNITR
3. Reading/writing / TS / @

4. Visual /7 T



Correct Answer :-

e Visual / €T

22) What type of language theory focuses on the inborn capacity of infants to learn language? /

areT HEa & v Rt § Serena awar W e veR 1 o Rguia e w2
1. Behaviourist theory / TgaerR f&gia
2. Nurture theory / GiyoT g

3. Instinctual theory / @gsl g

4. Nativist theory / TEol TAdGT Bgid

Correct Answer :-

« Nativist theory / Hgol STIdier fagid

23) A detailed information about the individual’s ancestry is collected when the following
method is used to measure personality. /| SI§ cqfFdcad HI A & fav s R Fr 39Ar
frar strar @ A swfFa i gurEeh & TR F v RBeqgd TEER THT g AT B

1. Interview / HI&TTchY
2. Case History / & @&l
3. Projective tests/ W&ICT TI&TOT

4. Questionnaires/ STl

Correct Answer :-

. Case History / & f&&)

24) If the teacher has to know about the students’ strengths and weaknesses before the
instructional materials are organized, the teacher should conduct: /

I et 1 Facas THAANAT F Jaeyd F T T8 SEr Y afgaar iR
FAANRAT & R H AT ¢, ar RNaTF A F FT o= T TR

1. Summative Assessment / HRTTRIA HedTehel
2. Diagnostic Assessment / SiGTTeidh EFJ?«’:I'IEF[
3. Interim Assessment / 3IdRHA HedTehel

4. Formative Assessment / TdlcHD Hodlhed



Correct Answer :-
» Diagnostic Assessment / ErAIB G ?FLFJIEFT

25) The creativity of the child can be most appropriately brought forth by giving in
the class. / F&T H & T3 Y [WAHSAT H 3T T F AT AT AT FFHAT
gl

1. Homework / W

2. Notes / fecgforar

3. Impositions / 3TRgoT
4. Assignments / H'EIEJ?{QF[

Correct Answer :-

 Assignments / ﬂﬂﬂ%{ﬂ?

26) Visual problems get solved more comfortably than verbal problems, during which stage of
cognitive development? / 8T FHEATY HIf@F FHATAHT Y et 7 30+ 3IRH 9,
FAETCA® e & g Wor & R g g @ st €72

1. Concrete operational / ?Fj\?-rf AfPATcHS (hshic 3ITURRIAT)
2. Preoperational / fﬁff-'\':lmm (dTBmeIHF{)

3. Formal operational / 3/ HfhaTcA® (HidTel JHTUIAA)
4. Sensorimotor / TA&T Yeh (FEIHAI)

Correct Answer :-

» Concrete operational / E{ET HihaTcH® (e 3TURA)

27) What dilemma did Kohlberg present to children in his study on moral development? /

Fgaae o U Afaw FeFw & sreaasr § aeat F w0 gRer gwqa w2
1. Hector’s dilemma / g&reX & gfaer

2. Heinz’ dilemma / &1 &1 gfaer

3. Mary’s dilemma / 1 &1 gfarer

4. Henry’s dilemma / &eIXI &hr %ﬁf‘ﬂT

Correct Answer :-



 Heinz’ dilemma / & &I gﬁf‘iﬂ

28) Which of the following is least effective in educational implication of attention? /

farafaf@a & ¥ 71 cue & dfdys ARad & Rraas e &2
1. Theory talk / TG ard

2. Audio — visual aids / €T —H<T 3UIGTA

3. Gestures and movements / {Ta-#3aT 3R sifafafea

4. Incorporation of variety / AT TR

Correct Answer :-

« Theory talk / Rrgia aral

29) Aptitude tests are indispensable tools at the hands of to provide

educational and vocational guidance services. / ﬁﬁﬁ? Gﬁ? HATIHIRIS 'FITﬂE"\’h
491G UM H1 & g srfrgraar uderor @1 3ffvrard Iusr B

1. Teachers / T1&Tept
2. Friends/ f&31
3. Doctors / TRIThcHehi

4. Counsellors / TITEPIRT

Correct Answer :-

« Counsellors / HF«H%EEITI

30) Assessment results of a very strict yet effective teacher’s class are below

average. The factor that is impacting learners in this class is the -/ T dgd Gl
PSP Al YU e a1t & rpad & ufkunmH id A FH §1 I8 PRI Sl 59 H&
A Rranffal @ yvifad s w1 R, e &

1. complexity of the topic / fduxr &1 Sfeerdn
2. boredom of learners / f&mfdatT & ST
3. relationship between the teacher and learners / 18T 3Rk et & o gayg

4. relationship between new content and old content is not clear / I8 HTHAT 3R QTIT-ﬁ qrd &
9 G99 TUE G ©



Correct Answer :-

« relationship between the teacher and learners / f18Te 3R it & o dey

Topic:- General English(L1GE)

1) Read the following passage carefully and answer the question given below it.

Mount Rushmore known as “The Presidents’ Mountain” is located in the Black Hills of South Dakota. The four
presidents carved in the mountain are George Washington, Thomas Jefferson, Theodore Roosevelt, and Abraham
Lincoln. Jefferson stands for the expansion of the nation as he is credited with the Louisiana Purchase in 1803.
Lincoln symbolizes the preservation of the nation in leading the nation through the challenging Civil War. Theodore
Roosevelt represents the development of the country. It took 14 years to complete Mount Rushmore. Nearly 400
workers helped create this memorial. The sculpture cost $989,992.32 to build. Mount Rushmore is 5,725 feet tall.
This is a land where mountains meet the plains and merge two very different ecosystems, leading to a blend of
diverse habitats and animals. Many thousands of people visit South Dakota each year and stop to visit Mount
Rushmore to see this attraction.

What was Jefferson's achievement?

1. He helped in the construction of the Panama Canal
2. He made changes in the dollar bills

3. He led the nation through the Civil War

4. He is credited with the Louisiana Purchase

Correct Answer :-

¢ He is credited with the Louisiana Purchase

2) Read the passage carefully and answer the question that follows:

Shakespeare is the most renowned play writer the world has known so far. His dramas capture the
essence of human psychology; there are wide ranging emotions depicted in his works. It seems so
strange that a person living so much earlier than modern times could depict emotions like ambition,
anger, jealousy with such clarity and ease. His characters are also larger than life. Macbeth, King
Lear, and Othello all capture the human emotions in an extremely powerful way. It’s not just the
Shakespearean Tragedy that stands out but also his comedies with Characters like Shylock and
strong female character like Portia are very grounded. His capability to weave comedy in plays As
you like it, Mid Summer Night's Dream, etc has a timeless quality.

Which one of the followings is a Correct sentence?



1. Shakespeare is a pre-modern play-wright
2. Shakespeare is a pre-modern poet
3. Shakespeare is a modern Dramatist

4. Shakespeare is a modern poet

Correct Answer :-

» Shakespeare is a pre-modern play-wright

3) Read the passage carefully and answer the question that follows:

Shakespeare is the most renowned play writer the world has known so far. His dramas capture the
essence of human psychology; there are wide ranging emotions depicted in his works. It seems so
strange that a person living so much earlier than modern times could depict emotions like ambition,
anger, jealousy with such clarity and ease. His characters are also larger than life. Macbeth, King
Lear, and Othello all capture the human emotions in an extremely powerful way. It’s not just the
Shakespearean Tragedy that stands out but also his comedies with Characters like Shylock and
strong female character like Portia are very grounded. His capability to weave comedy in plays As
you like it, Mid Summer Night's Dream, etc has a timeless quality.

Which of the following emotions are NOT mentioned in the paragraph?
1. Jealousy

2. Ambition

3. Anger

4. Love

Correct Answer :-

e Love

4) Read the passage carefully and answer the question that follows:

Shakespeare is the most renowned play writer the world has known so far. His dramas capture the
essence of human psychology; there are wide ranging emotions depicted in his works. It seems so
strange that a person living so much earlier than modern times could depict emotions like ambition,
anger, jealousy with such clarity and ease. His characters are also larger than life. Macbeth, King
Lear, and Othello all capture the human emotions in an extremely powerful way. It’s not just the
Shakespearean Tragedy that stands out but also his comedies with Characters like Shylock and
strong female character like Portia are very grounded. His capability to weave comedy in plays As
you like it, Mid Summer Night's Dream, etc has a timeless quality.



The writing style of Shakespeare has

1. clarity and ease
2. powerful way

3. ambiguity

4. simplicity
Correct Answer :-
 clarity and ease

5) Read the passage carefully and answer the question that follows:

Shakespeare is the most renowned play writer the world has known so far. His dramas capture the
essence of human psychology; there are wide ranging emotions depicted in his works. It seems so
strange that a person living so much earlier than modern times could depict emotions like ambition,
anger, jealousy with such clarity and ease. His characters are also larger than life. Macbeth, King
Lear, and Othello all capture the human emotions in an extremely powerful way. It's not just the
Shakespearean Tragedy that stands out but also his comedies with Characters like Shylock and
strong female character like Portia are very grounded. His capability to weave comedy in plays As
you like it, Mid Summer Night's Dream, etc has a timeless quality.

This passage is about:

1. Timeless quality of Shakespeare
2. Shakespearean clarity and ease
3. Shakespearean Drama

4. Shakespearean depiction of emotions

Correct Answer :-

» Shakespearean depiction of emotions

6) Fill in the blank with the appropriate option in the given sentence:
Kavya is responsible for the distribu-- of the workbooks this week.

1. -tion

2. --ed

3. --able



4, --sion

Correct Answer :-

e --tion

7) Choose appropriate article for the given sentence:

We just finished____ unit.
1. an

2. the

3.a

4. no article

Correct Answer :-

8) Choose appropriate articles for the given sentence:
After ___long day, cup of tea tastes particularly good.

1. a, the
2. an, no article required
3.a,a

4. no article required, the

Correct Answer :-

9) Choose the appropriate determiner and fill in the blank below:

of them were interested in the tournament and looked forward to seeing it.
1. Each
2. Much

3. Little



4. Many

Correct Answer :-

10) Choose the appropriate option that rewrites the given sentence in its passive voice.
They have postponed the meeting until next week.

1. They have been postponing the meeting until the coming week.

2. They had postponed the meeting until next week

3. The meeting has been postponed by them until next week.

4. The meeting have postponed by them until next week.

Correct Answer :-
o The meeting has been postponed by them until next week.

11) Choose the appropriate option to convert the given sentence from direct speech to indirect
speech.

The Physical Director said, “"Don’t run in the corridor!”

1. The Physical Director told no running in the corridor.

2. The Physical Director said that not to run in the corridor.

3. The Physical Director ordered the students not to run in the corridor.

4. The Physical Director told us to run in the corridor.

Correct Answer :-

e The Physical Director ordered the students not to run in the corridor.

12) Choose the appropriate synonym for the highlighted word in the given sentence.
The ornaments worn by the bride has enhanced her beauty.

1. Complemented

2. Aggravated

3. Raised

4. Exhibited



Correct Answer :-

« Complemented

13) Choose the appropriate tenses to fill in the blanks in the given sentence :

My father always Eiffel Tower in Paris whenever he to France.
1. visits, goes

2. visited, went

3. may visit, is going

4. will visit, will go

Correct Answer :-

« Visits, goes

14) Choose the appropriate antonym for the highlighted word in the given sentence.

Jeremy is most fortunate since he won the school badminton tournament and stood first in his class.
1. Charmed

2. Wanting

3. Favoured

4, Discontented

Correct Answer :-

15) Choose the appropriate conjunction for the given sentence.

Ravi was playing in the garden I went to his house.
1. when
2. since

3. and

4, whereas



Correct Answer :-
e when

16) Choose the appropriate prepositions for the given sentence:

He took the water _ the pot and poured it a mug.
1. of, in

2. from, into

3. from, at

4. at, in

Correct Answer :-

o from, into

17) Choose an appropriate modal for the given sentence:

We use fuel economically because it is not renewable.
1. would

2. must

3. might

4. may

Correct Answer :-

18) Choose the option that best explains the highlighted expression:

She finished the work ahead of time.
1. much earlier than the deadline

2. with a head towards time

3. quite in time

4. very late



Correct Answer :-
e much earlier than the deadline

19) Choose the most suitable pronouns for the given sentence:

_____grateful for all the help ___have given __.
1. I'm..you .. me

2. lt’s...1...me

3. You're ... 1...you

4. We're ... she ... us

Correct Answer :-

20) Read the sentence carefully and choose the option that has an error in it:

John went to the park to pass away his time.
1. to pass away

2. his time.

3. John went

4. to the park

Correct Answer :-

e to pass away

21) Which of the following options best combines the two given sentences?
Sita has a pen. Sita has a pencil.

1. Sita has a pen but also a pencil.

2. Sita has both a pen and a pencil.

3. Sita has a pen so she has a pencil.

4. Sita also have a pen and so a pencil.



Correct Answer :-

¢ Sita has both a pen and a pencil.

22) Choose the right tag:

Naina wanted to go for an outing with her class friends, ?
1. doesn’t she

2. didn’t she

3. does she

4, did she

Correct Answer :-
e didn’t she

23) Read the following passage carefully and answer the question given below it.

Mount Rushmore known as “The Presidents’ Mountain” is located in the Black Hills of South Dakota. The four
presidents carved in the mountain are George Washington, Thomas Jefferson, Theodore Roosevelt, and Abraham
Lincoln. Jefferson stands for the expansion of the nation as he is credited with the Louisiana Purchase in 1803.
Lincoln symbolizes the preservation of the nation in leading the nation through the challenging Civil War. Theodore
Roosevelt represents the development of the country. It took 14 years to complete Mount Rushmore. Nearly 400
workers helped create this memorial. The sculpture cost $989,992.32 to build. Mount Rushmore is 5,725 feet tall.
This is a land where mountains meet the plains and merge two very different ecosystems, leading to a blend of
diverse habitats and animals. Many thousands of people visit South Dakota each year and stop to visit Mount
Rushmore to see this attraction.

Mount Rushmore is also called as:
1. The Presidents Mountain

2. The Robinson Mountain

3. The Tall Mountain

4. The Symbolic Mountain

Correct Answer :-

¢ The Presidents Mountain

24) Read the following passage carefully and answer the question given below it.



Mount Rushmore known as “The Presidents’ Mountain” is located in the Black Hills of South Dakota. The four
presidents carved in the mountain are George Washington, Thomas Jefferson, Theodore Roosevelt, and Abraham
Lincoln. Jefferson stands for the expansion of the nation as he is credited with the Louisiana Purchase in 1803.
Lincoln symbolizes the preservation of the nation in leading the nation through the challenging Civil War. Theodore
Roosevelt represents the development of the country. It took 14 years to complete Mount Rushmore. Nearly 400
workers helped create this memorial. The sculpture cost $989,992.32 to build. Mount Rushmore is 5,725 feet tall.
This is a land where mountains meet the plains and merge two very different ecosystems, leading to a blend of
diverse habitats and animals. Many thousands of people visit South Dakota each year and stop to visit Mount
Rushmore to see this attraction.

How long did it take to complete the construction of The Presidents Mountain?
1. 17 years
2. 12 years
3. 13 years

4. 14 years

Correct Answer :-

e 14 years

25) Read the following passage carefully and answer the question given below it.

Mount Rushmore known as “The Presidents’ Mountain” is located in the Black Hills of South Dakota. The four
presidents carved in the mountain are George Washington, Thomas Jefferson, Theodore Roosevelt, and Abraham
Lincoln. Jefferson stands for the expansion of the nation as he is credited with the Louisiana Purchase in 1803.
Lincoln symbolizes the preservation of the nation in leading the nation through the challenging Civil War. Theodore
Roosevelt represents the development of the country. It took 14 years to complete Mount Rushmore. Nearly 400
workers helped create this memorial. The sculpture cost $989,992.32 to build. Mount Rushmore is 5,725 feet tall.
This is a land where mountains meet the plains and merge two very different ecosystems, leading to a blend of
diverse habitats and animals. Many thousands of people visit South Dakota each year and stop to visit Mount
Rushmore to see this attraction.

How tall is the Mount Rushmore?
1. 5,275 feet
2. 5,272 feet
3. 5,725 feet

4, 2,575 feet

Correct Answer :-

o 5,725 feet



26) Choose the appropriate tense to fill in the blank in the given sentence:

The bus when we got to the bus station.
1. was left

2. has left

3. left

4. had left

Correct Answer :-

« had left

27) Fill in the blank with the correct option in the given sentence:

My boss is often --courteous and speaks to me in a rude tone.
1. dis --
2. un--
3. pre--

4. ante--

Correct Answer :-

o dis--

28) Rewrite the following changing the active sentence to passive.

Lee would reject the offer.

1. The offer would have been rejected by Lee.
2. The offer would be rejected by Lee.

3. The offer will have been rejected by Lee.

4. The offer will be rejected by Lee.

Correct Answer :-



» The offer would be rejected by Lee.

29) Choose the option that substitutes the given phrase appropriately.
The place where bodies are kept for identification

1. Morgue

2. Cemetery

3. Crematorium

4. Hospital

Correct Answer :-

30) Choose the right tag:

Your father’s paying for the tickets, ?
l.isn'tit

2.isn't he

3. aren't you

4. aren't they

Correct Answer :-

e isn't he

Topic:- General Hindi(L2GH)

1) WRTIRT BIS TaRT,
RRIR R ReerT

39 Sitq forama =rE,

T A TSAT 59 FRRTICH |1

T9 TR Hd BT ATGY, HTad § TPRI
FIA-ap Y Wt UL Y, R T wm-arTg i
SIS dgiPl 69 P, fawe vy fryrm
aTg Y O ST ATEY, o H W FERTIRN



S UL B UgH 19 TR T UY BT IR JaTgd:

WR- TR Ui B Ui Vo & TS aT o9 qReRT 8 Iger | o1 9l 82
1. g

2. 37chell

3. Tl

4. o1 I=AT

Correct Answer :-

o o IRT

FIT A TEAT 69 GRRTICH |l

TG TR Fd BT ATGY, HTad § TPRI

FIA-IpY Wt UL Y, R T wm-arTg i

ST dEiPT §UH BI, fY@e ty fRURT

qTg Y O 3T ATET, o H W FARTIRN

ST TR B UgHR -1 IS T UY HT 36 qargd:

U=~ WRd Uehi® & fore o o & s il &1 9a+1 Fifoe?
1. §OR o3

2. HAR &1 30

3. 30l Redr &Y o

4. 9{ gl

Correct Answer :-

o 3UAT Redr & of

3+ Sitg fommra A8,
T A TSAT 59 FRRTIICS |1



9 R Hd DAl ATGY, 3Tad § TPRI

PTA-THY W1 UL Y, R T w-arTiR |

ST dEiPT §UH BI, fYee uy fRURT

qTg Y O 3T ATET, o H w FARTIRN

ST UL B UgHR -1 IS T UY HT 30X qar3:
WRH- WRgd Ui § #9701 H31 F 1w #g w1 82
1. TR &Pl HH A & fow

2. A W@ & forw

3. 51 M H A & e

4. GO & AT AL & foT

Correct Answer :-

. GIH @A & fou

FIT A TZAT 66 GRRTICH |l

9 AR Hd Xl ATGT, SHTad § DRI
PIA-THY T LY, FIOR T w-arTIR |0
ST dETPT HUH BI, fYwe uy fReURT

g X I YA AT, o H U HERTIR I
S Ui B UgH 19 U T UY BT IR JaIgd:
- U Uit A ‘RReeRT &1 @ o 32
1. galcAehdT

2. § WX e arelr

3. fder ¢ arer

4. I8 TRA drell

Correct Answer :-



5) #RT IR BIS MR,
RRTR & RR8RTI

U wftg faara e,

T A TSAT 59 FRRTICH |l

9 AR Hd Xl ATGT, SHTad § THRI
PIA-THY T WYY, fIR Tr w-arTIR |0
ST d8TPT HUH BI, fYwe uy fReURT
g X I YT AT, o H U HERTIR I
S ULl B UgH 19 TR T UY BT IR JaIgd:
- S | T aTd g2

1. g9

2. a2h

3. 9

4. gl

Correct Answer :-
o g9

FIT A TEAT 69 GRRTICH |l

TG R Fd DAl ATGY, Tad § TPRI

FIA-IpY Wt UL Y, R T wm-awTg i

ST dgiPT §UH BI, fY@e uy fRURT

qTg Y O 3T ATEY, o H W FARTIRN

ST U B UgHR -1 U T UY HT 36 qargd:
- "R-TRT H DIH-A1 FHN 372

1. Ugedih

2. HAIITHTT

3. 66

4. g



Correct Answer :-

T A TSAT 59 GRRTICH |1

9 TRT Hd BT ATEY, 3ATad g TPRII
PIA-ap Yy WY U Y, R T wm-arT g
ST dETPT §UH B, fSwe ty fRURT
TTg X I S(UAT ATEY, o B U HERTIR I
Iued U= ) Ugehs 19 U T UY HT IR Iad133:
TH- B A fFA IR’ Fe1 82

1. HeFdl &

2. TN-GR § &3 & arel &l

3. STl @l

4. €I Y

Correct Answer :-

e T-GR ¥ @ | arel Pl

3 Sitq foama =re,

T A TSAT 59 FRRTIICH |1

TG TR Fd BTl ATGY, HTad § TPRI

FIA-IpY W UL Y, R T wm-arTg i

1g AE1PT 9H B, fawe vy ARYRTI

qTg Y O 3T ATEY, o H W FARTIRN

ST TR B UgHR -1 IS T UY HT 36X qar3d:
U~ B & JTAR TS $d AW T2



1. foove #maT e
2. BX-gR SIS

3. §OR # form ghm|

4, ST FTerdsh A B

Correct Answer :-

o ST Prordh H BT

FIT @ ST 69 GRRTICH |l

9 TR Hd Bl ATGY, Tad § TPRI

FIA-gp Y W UL Y, R T wm-arTg i

WIS dgieT 6ad S, fowe vy ARy

g ¥ A YT AT, o H U TERTIR I

I UL ®) UgH 9 U Y UY BT IR qargd:

WRH- U B1 ufed “dt F v JaRr ® v frar &1 @ e g2
1 g

2. dpTel

3. AN

4. Bl

Correct Answer :-

T TSAT 59 GRRTICH |1
T4 AR Hd HaTl AT, 3Tad & TPRI
PIA-ap Y W UL Y, R T wm-arT g



WIS dgieT 6ad S, fowe vy fRyrm

g ¥ I YT AT, o H U HEARTIR I

I UL ®) UgH -9 U Y UY BT IR qarsd:

WR- Ui | A ufeR e Sha faaa At & wfa &1 @ ared 32
1. @ #9 gfaT

2. ¥4 1 Rear ffow

3. ¥ B HIH FUW AT

4. TIF P HT ST

Correct Answer :-

. T B Redr Hfaw

v <fig feara e,

T TSAT 59 GRRTICH |1

9 TRT Hd BT ATEY, 3ATad g TPRII
PIA-ap Y WY U Y, R T wm-arT gl
ST dETPT §UH B, e ty fRURT
g X I SUAT ATEY, o B U HERTIR I
ST U B UgHR -1 T T UY HT 30X qa1gd:
Y- Bfd &b FHAR U T e 82

1. ®H

2. gufa

3. R

4, GIH

Correct Answer :-

. MR



39 Sitq forama =g,

T A TSAT 59 GRRTICH |1

9 ART T T ATGT, SHTad § THRI
PIA-ap Y WY U Y, R T wm-arT gl
ST dETPT §UH B, fSwe ty fRURT
g X I SUAT ATEY, o B U HERTIR I
Iued U= ) Ugehs 19 U T UY HT IR Iad133:
UH- B & FFIR Ut {59 PR $71 8?2
1. @Il @ A

2. e

3. BT

4. Gp

Correct Answer :-

I <fia faara e,

FIT A ST 99 GRRTICH |l

9 TR Hd Bl ATGY, HTad § TPRI

FIA-ap Y W UL Y, R T wm-awT g

WIS dgieT 6ad S, fowe vy ARy

TIg ¥ O 3T ATET, o $ Ha FEARTURN

I UL 61 UgH -9 U T UY BT IR qarsd:

- $Hfd & TR ARI-UT HIA A DIH-9T YT IUT gl 82
1. 3EPR

2. ¥y

3.8W
4, SoT

Correct Answer :-



FIT A TGAT 60 GRRTICH |l

TG TR Hd BT ATGY, Tad § TPRI

FIA-IpY Wt UL Y, R T wm-awTg i

ST dEiPT §UH BI, fY@e ty fRURT

qTg Y O 3T TS, o H W FEARTIRN

ST UL Bl UgHR -4 TR Y UY BT IWR JaIsd:
- WA Ui & i 741 Bis & R #9182
1. ®H

2. ATA-fareiTed

3. T-gR

4, Ty

Correct Answer :-

o Ty

T A TSAT 59 GRRTICH |l

9 AR Hd Xl ATGT, SHTad § DRI

PIA-THY W WYY, fIR T w-awRTIR |0

ST dETPT HUH BI, fwe uy fReURT

g ¥ I SUAT AT, I H U HEARTIR I

S Ui B UgH 19 U T UY BT IR JaIgd:
UL~ B & AR AR FT Y 7497 82

1. A1A-fa=Tre

2. gT-gled



3. HATT-GSITT
4, TI-gR

Correct Answer :-

16)W#Wmﬂwmﬁm$mﬁgmlmmam€rﬁmamﬁm
m#ﬂmﬁ#ﬁwﬁ&lmﬁmﬁﬁmaﬁmmmmmm
A ¥ 39F IR FREFEA, awafRe IR TaEoeg B A1 IEH ufafRar H sw i Sea &
aedfa® Sha & T # ygfy F qurdarers e Ra3m o A Swar & aurdardy Far #1856
§. # Y dEF FAEWR A Gy == AEH A0 F IFRE F I AGIN FARI YA T W R
ﬂwmmaﬂrﬁ:ﬁraﬁmwﬂ:mmsﬁwsﬂm#wﬂsmaﬁaﬁmwwmﬁm
TuiaE B 9AT R a9 ‘GHadie’ Fel AT A AT GHFA F T B R{AY Aged @ A wHfa FoAwo
Hleed yeget AR e B wfaw shaa # F1§ smavor 7t 2, safav s At ) Awa-shaer & o 3@
e aediasar & Ry fFan sefwdt odt & afeas wor & wiw & § qurdae # @ gt w1 R
B N 3HSF 91G JYHEE For F FFw w0 F aftra @ar ¥ SdEaTh F 99H 30 qIR diger H
YA 3T AT TAT /S 916 T A & ey, Maer 3w M F Turdardt For # QAwfaa fFam
Mt Fr Flaat & qurdare w1 N w9 af@a B @, 3@ qEfaE qurdar

3YYFA TCHA P YGHT Al & AT JT FT IR IABA:

- T A gAEEh F 15 gUdar) a1 F RAERd = &1 47 R G smar @72
1. TUATET HeATHRT Bl

2. TTerECiy, Maiel 3R aivehi

3. TlerEcid, TMae 3R FeE3R

4, A AIX, ATAT I 3R G3R Ager

Correct Answer :-

17) T # ‘FUAE F1 A TF THR & TWeoeea@e & @QOT # g3 Fedraaad! T[HR Iediash
m#ﬁmm#ﬁwmmm@rmm#maammmmmm
A ¥ 39F FRFAY FRAWHAT, JgEafas dR TaEeee aF A 3uh yfafkar A sw wifdw Sea ¥
arEafa® shae & fRaor 7 ygfar F ‘FJurfarerst se f@m o A arar ¢ qurdardt Fer w1 e 1856
g #fﬁrmmﬁmm maﬁﬁ#mm#gmlmﬁmmﬁmwaﬂ?
Wmm%qﬂﬂaﬁmmmmaﬁ?mﬁwmﬁﬁmmlsﬂm#m
wrﬂaﬁﬁqwﬁma—g ‘Gpadre FET AT ¥ AT GHfd & T F Q{AY #qgea ad A wpfa &1 aw@
'&l’lﬁ'&mﬁaﬁtm%lu@ﬁmsﬁmﬁaﬂémaﬁ&sﬂﬁvsﬁmﬁ#m—maﬁaﬂm
o aeatadar & Ry frm sehwdt adft § afeaw wwor F v F § qurdae fosw agfy F R
A T FUF G JYTHAE Fell FT FHE T F af@T T 1 qEATER F 9UH 39S trmchqa’a»‘r
JYTHAE) IYATH ATAT AT SHF 91 &F & g Ty, aeier ai T & TUTHEE) Fer # e R
Mht A ot F gurdare F1 ot w0 df@ra A 7=, 3@ qenfas Furdare FE1 T

39T AGHIT T YGH AR & AT G HT IR TASA:



WRA- dTeats A AT GRT AT JYrdarE F ‘THaars F4i Fel T4T?
1. 9% adfdd Sidd ¥ W o7

2. 393 Sfiad & Ufd UelideTarg A1

3.3 Upld T &A1 faW HAgea o1

4. 313 3rcilfhe dea 3fAw &

Correct Answer :-

« 38 Upid T A A Hgea A1

18) AT # ‘FYNAIE F TeH TH THR ¥ TWeOwea@e & QAU # g3 FeoraaEll TSR IEdah
T ¥ W FoUATNF F BT S & 340 A3 3 Ialfrd ded A0F OF A1 A% g ARAHART
A ¥ 39F FRFAT FRAWEHAT, JgEafas 3R TaEeee aF A 3uH Ak A sw sifdw sea F
arEafa® shaed & fRaor 7 v F ‘Jurfarest se f@m o A arar ¢ qurdardt e w1 e 1856
g #fﬁrmmaﬁrm;am maﬁﬁ#mm#gmlmﬁmmﬁﬁmwaﬂ?
ﬂmmmnﬁ*tm#a?rmmmmaﬁtm#wmaﬁaﬁmlwm#m
zrmaiaﬁas‘rsramﬁma's ‘Gpaare FET T ¥ AT GHfd & T F Q{AY qgea ad A wpfa &1 aw@
Wqﬂrﬁaﬁtﬁmj%lmagﬁﬁ?aﬁaaﬁaﬂémaﬁ%,sﬂﬁvsﬂaﬂvﬁ#m-shﬁraﬁaﬂm
o adiasar & Ry fran seladt odt F afeasw wor & wiw & & qurdae #ogw gt w1 R
B | HE A1g JYTHATEr For F REw w9 F afda far 71 qaaeh & 99w 3w PR fyd #t
Tl 3USATH AT AT SUSF 96 T A &) Ty, aeier 3R T ¥ aUEE FaT ) AERT R
MHt Fr Flaat & Furdare w1 S w0 af@T Far T, 3@ wEnfas gurdae FwBr

39T AGHIT T YGH AR S AT G HT 3R IA34:
;r-ﬁmuaﬁraﬁr';rﬁﬁmmcrwmmmgmm?
1. tfagardare

19) U & ‘JyRiAE’ F FoAH TF TN § ‘FIeoeeaan & @A § g3 FaeoaaaK TEaER aRaas
ST @ W Fousrard # FEor Fxa &1 3T et 7 sreifeE aca aftw @ A 3aF a AfpwmEfta
AT ¥ 3% FEFAY AFRAETAT, IaEafAF IR Taeoee gd A1 3T gfafFar F sw sifoE Sea F
aFafa® shiae & REor f wgiy & qudare A w1 Em @ A S § fF gdardy wer &1 o
1856 §. # %Y J@H FAEI H GEY T ARH TE F THR A §I0 TEIT FARI ATA TN W
S AT AT o F gaT F ¢ | $HS 91€ oo AR AT A FH HeaAdT F A TGRAT A AW A
o Furdare # v Rar a8 ‘WFaare FE1 T T AW GHfT F @ B @AY Jged &7 1 g FToART
Hlegd weget it oRge ¥ yEfaw Sfaw § FE smawor A@ ¢, swfav s @ ¥ AE-sia F s 3w
o aeafasar & Rfa ) sefadt odt & sfeasn mor § v & @ FudEre fr @ ggfy w1 Ry



A T TS AIg FUTA Fer F REw T A AT @ ¥ aFAEER § 99 39S @R Ager F
FYTHAE) IYATH ATAT AT SHF 91 ®F & g Ty, aeier aiT T & TUTHEE) Fer # e R
Mt A Ffaat # gurdag &1 A w0 afda B @, 3@ aenfae aurdae wa T

39T AGHIT T YGH AR & AT G HT IR TASA:
eel- dTeotd 3R FeT F TUTdarg FT FIAT FET TIT?
1. rfaardare

20) T # ‘FUAE F FeA TH IFR § TAeOeaEn F @A A g1 FaesaaEK T@AER aRaas
ST @ W Fousrard # fFEor #xa &1 3T et 7 sreifeE aca aftw @ ¥ 3aF a AfpwmEfta
AT ¥ 3% FAFAY AFRAEEAT, aEafAF IR Taeeee gid A1 3T gfafFar F sw sifRE Sea ¥
aafa® shiae & REor  wgiy & qudare A w1 Em @ A S @ gwdardy war &1 o
1856 §. # % d@H FANI 1 GRCY T ARH TE F THR A §I0 TEIT FART AHTA TqAN W
S XA AqA A F 98T A AG ¥ FHF qG Ao AN AT A FH HeQIAT P WA QAT FT @A A
o Furdare # v Rar a8 ‘SFaare FE1 AT T @9 GHfT F @ F @AY Jged &7 1 g w1 ART
Hlegd weaet it oRge ¥ yefaw Sfaw § FE smawor a@ ¢, sufaw s @ ¥ AE-Sia F s 3w
o aeafasar & Rfa ) sefadt odt & sfeas mor & v & & JudEre fr @ ggfy w1 R
A1 T FEE AqG IAHA Fon F R T A @ ghar T qRAEEh F I9H 3 IR Aiger H
YA 3T AT TAT S 916 ®F H & ey, Mae 3 M F Turdardt Far # QAwfaa fFam
Mt A Flaat & gurdare w1 N w af@T Far @, 3§ gEfeE qurdae Fwer

39T AGHIT T IGHT AR S AT G FT 3 I3
- Seeitwd! erelt & Hfeasr =or F wiw F Furdardt ygfa #1 Ry frw FRor @ B wem?
1. AT A BT A9 TFIT A & HROT|
2. 3cAd HSA HINT P YA P &b BRI
3. 97 T 3UET U for@a & HROT|
4. AIATTSID AT H AFUT A & HROT|

Correct Answer :-

o HAAT A Pl 99T AT FA & PRUT|

N

1) WU # ‘FJUAE 1 A TF TH6R A Taeoeeaae & AR § g3 Feowad@g TR aedias
T ¥ T FoUATNF F AT IS A IAh) Tt 7 elfrd ded w0 A A SA% UH ARAHRE
Y ¥ 39F IR FREEAN, awafRe IR TaEeeg gd A1 IuH ufafRar H sw i Sea &
aedfas Sfiaad & for & ygfa & gurdare & Sow fam @ AT aar ¢ F gy Far s



~

S VAT AqA T F 9&T A AG A FHF qG Ao AR AT A FH HRIAA P AE QAT FA AN
o aurdare # v Rar 9 ‘wFaare w1 @1 T A6 yH5id F T F AV wgea 3@ &) g w1 AR
Hleed weaer 3R favga 81 wEfaw Sfaer & F1$ maRor @1 B, safav g AN A AwE-shaT # o s
o aredfasar & Rfa ) seadt ot & sfeas mor & s & @ Judare #r @ ggiy w1 Ry
AR T FEF AE IUA Fer # Rww v A Al @ ¥ aedaeh 99w 3y IR dige &
JYTAE 39T AT AT 3HF d1¢ ®F & g1 Terverd, e 3 MHf F Furdardy war ® _AFR@a [Fam

Mt A Ffaal # gurdag &1 F w9 afta B @, 3@ aenlee aurdar ww T
39T I T YGHT AR S AT G HT 3R IAB4:

WS- WHATSE ATHAE 1 Fod Fa g # AWT F1ar 2

1. AT

1856%.#ﬁﬁrmmwﬁqﬁayﬁm‘mm$mm#§mlmﬁmaﬂﬁmw
a

22) QI # ‘FYHAE T F+H TF THFR A FIeoweaEe F R F g3 Feowed@e [TAHR aRdfas
ST ¥ W Fouadd #A Feor Fxa 1 3T Wt # aeifew ac@ aftw @ & 39F am wfganRa
Y ¥ 39F FARAT FREEAN, awafRe IR TaEeeg gd A1 IuH ufafkar H sw sifQw Sea &
adfas Sfiaa & for & ygfa & gurdare & Sow fam @ A aar ¢ F gy Far s
1856 §. # % J@H FEW H IACY T ‘ARHA T F THRA T §IH0 TEIT FART A TN W
S XA AGA @ F gaT F G ¥ FHS AIG oo AR AT A FH HeaIAT F A TQRAT A AW A
o gyrdare # v RAr a8 ‘wFhaare FET AT A @97 GHAT F T F @AY Aged &7 1 IHfF FOART
Hieed weaet 3R PRgE ¥ wpfaE Shaw & 1§ sraor A€ §, sEfC s Aol X AeE-chaw # s sEH
et aafasar & Rfa ) seadt odt & safeasw wor # v & & JurdEre #r @ ggfy w1 R
A | FEF A U For F REw w0 § affa dar ¥ aedEed F g 39w IR Ay #
TYTIAIEY 39T AT AT 0 18 T A § Ty, Me AR M o gardardr For 1 Refda
Mt Fr Flaat & gurdare #1 N w9 af@T B 3@ qEfaE qurdar e o

3YYFA TSI P YGHT Al & AT JeT FT IR IABA:
weel- ‘IR Rger &1 I 372

1. gAdT ST

2. AR AT

3. ATHRATST AT

4. A8 @

Correct Answer :-

o dER T



23) QU # ‘YA F FeA TF TFR § TeoeadaE & @AY F g1l FeowaaEe] WA aedfas
T ¥ W Fogardld HA fFaor Fd 41 39 @A & y66lFs daa 30 d &) 39F g ARAwEET
AT ¥ 3% FEFAY AFRAEEAT, aEafaE 3R TaEeee gid A1 3T gfafkar F sw sifdw Sea &
aeafa® e & fREer 1 ygfa & qurdare # S R3m @ AET Srar @ F quriardy Far w5 aer
1856 §. #aﬁrmwﬁwﬁmﬁm mmﬁmmﬁgmlmﬁmawmw
ﬁéﬁmmma;qﬁﬁaﬁmmmmaﬂrmﬁwmﬁmmls‘armﬁ#
mzmaimas‘rcranrﬁma'sWWW|#WW$Waﬁﬁmmaﬁmmmm
WW&TaﬁTﬁﬂaﬁ%lmsﬁaﬁﬁaﬂémaﬁ&sﬂﬁvsﬁmﬁ#m—maﬁsﬂm
o aredfasar & Rfa ) seadl ot & sfeas mor & s & @ Judare #r @ ggiy w1 Ry
AR w9 FEE A% IAHAY Fon F W ¥ A @ giar ¥ aAaEh F 9UH 39w PR diger #
Tl 3USATH AT AT SUSF 96 & A &) Ty, e 3R A A guEE Far ) AEed R
MHt Fr Flaat & gurdare w1 S w0 @G B T, 3@ wEnfas aurdae FwBr T

39T AGHIT T YGHT AR S AT G HT 3R IAB4:
- ‘fger &1 3 FAr ger 82

1. f&ar gam

2. faemret

3. gell §37

4. e

Correct Answer :-

24) WU # ‘FYHAE FT F+H TH THFR § TaeoweaEe & Y F g3 Feowed@g TR aRdfas
T ¥ W FoqaATF F RFROT S A 396 A3 3 IlfhF ded w0F OF A1 IAF 9 ARAHART
Y ¥ 39F FARAT FREEAN, awafRe IR TaEeeg gd A1 IuH ufafkar H sw sifQw Sea &
aedfas S & for & ygfa & qurdare & o fam @ A aar ¢ F qudady Far s
1856 §. # T AWH Fa@A A gy @ AETH A & TR F FHT JSIN FARIT AT [qA W
aﬁéﬂmmma:waﬁaﬁrmmmmaﬂrmﬁwmaﬁmmlsﬂaﬁvﬂ#
ﬁm:rmﬂmafrw&nrﬁmagWWW|ﬂquﬁr$waﬁmwmaﬁmq§ﬁrmm
Hieed weaet 3R PARgE ¥ wpfaE Shaw & 1§ sraRor A€ §, sEfT s Aol ¥ AeE-chaw # s sEH
et aafasar & Rfa ) seladt odt & afeasw wmor # v & § JurdEre #r 5@ ygfy w1 R
A | FEF A U For F REw w0 § affa dar ¥ aedEed F g 39w IR Ay #
YA YA AT TAT S 916 ®F A & crerery, Maer 3 M F Turdardt For # R_Awfaa fFam
Mt #r Flaat & gurdare #1 N w9 af@T B @, 3@ qEfaE qurdar o

3YYFA TSHA P YGHT Al & AT JeT FT IR IABA:

Wee- A9 TRl g F FROT FE 3T H A Far w1 [{AY g 9w °17?
1. ARG

2.8

3. ST

4. Wi F

Correct Answer :-



25) W9 # ‘FUrAE FT F+A TF THFR § FeoweaEe & Y & g3 Feowed@e TR adias
I ¥ W FoUATNF F RAWOT IS A IAR @At F e ded wF A A 3A% UH ARAHRE
A ¥ 39F IR FREEA, awafRe IR TaEoeg Bd A1 IuH ufafkAr H sw i Sea &
aredfas S & for & ygfa & qurdare & Sow Ram @ AT aEr ¢ F quadady Far s
1856 §. # ¥¥ A@F waEMI H vy [T AETH AT & TR F FIHT| JSIN FARIT AT [q W
aﬂéﬂwmm$wﬁﬁa€rmmmmmm#wmﬁMWlsﬂm#
ﬁvzrmziamafrqwﬁma'a'Wﬁrmlﬂmwﬁrﬁwaﬁﬁmmaﬁmwﬁmw
Hleed yeget AR fAvga B wEfaw shaa & F1§ smavor 7dt 2, safav s Al F AwE-shaer & o 3@
o areatadar & Ry fFm selwd adt § afeaw wor F v F § qurdae fosw wgiy w1 R
A | SHF 91 JYTAAET ol FT QAFT T & AT gar 81 gFaaEh & IIH 39-a trmmqa’aﬁ
FYTHATE YA ATAT AT SHF 91 ®F & g Ty, e 3R A gudad Far F® Ated e
Mt Ay Faat & gurdag F1 S w afda @, 3@ aenfaw aurdae w5 T

3YYFA TCHA Y YGHT Al & AT YT FT 3R IABA:

- FE yFR i T F uEl F FRFAT AfRgET Tur aRafas #R FEeeeg @ a7
1. gTdarey

2. AfTATardy

3. TUATEY

4. TATSoATATET

Correct Answer :-

26) T # ‘FUHAE FI FeA Th THR § TWeowraa@e & QAU # g3 FWeoeaaEa! TSR Iediah
FT ¥ T FUATAF F AWOT I A SAR At F wlfrE aed w0F A A 3A% UF ARAHRS
Y 4 39F FRRAT HRAWWHEAT, aaRE IR FTaESeg Bd A1 IEH yfAfRAr H sw si9E Fea &
arafa® e & fREor f ygfar & qurdare # S R3m @ AT Snar § F quriardy For #w aer
1856 §. #aﬁrm‘mﬁwaﬁrmm ACTH A F YFRIAT F AT IS FARIT 30T g1 W
ﬁ?ﬂmmmn#*qﬂ#aﬁmmaﬁmmm#wmﬁanlﬁm#
mzmaiawas‘rwwﬁma-gWWW|ﬁmm$ﬂaﬁﬁawmaﬁmmmm
Mq—aﬁaﬁtﬁrmhmaﬁaa#aﬂémaﬁ% sﬂﬁvsam#msnawaﬁaﬂm
mmﬁm#ﬁﬁaﬁmlmaﬁh#mw#m#ﬁwﬂwﬁwqﬁmm
B TN FHE qG JYTEAE FAT F FE T A @ ghar 1 SdaTh F 99T 399 @ER Ay F#;
JYTAE 3G AT AT SHF 916 &F & g Trerverd, e 3R MH ¥ gyrdardy war ® _AFRa Fam
Mt A Flagt & gurdare 1 AN w0 Af@T AT T, 3§ gEfeE qurdae Fer |

39T ACHIT T YGH AR S AT G HT 3R IA34:
- 5w ygfa & ot & Afeamfza fear smar 82
1. grdarg

2. TqTTEATAG

3. Upidarg



4, QAfeRASH

Correct Answer :-

27) W9 # ‘FYAE T F+H TF THFR § TaeoweaEe F R F g3 Feowed@e TR aRdias
T ¥ T FoUATNF F AOT IS A 3T @At ¥ welfrd ded w0 A A SA% UH ARAHRE
Y ¥ 39F FARAT FREFEAN, awafRe IR TaEoeg gd A1 IuH ufafRar H sw s Sea &
aedfas Sfiaad & for & ygfa & gurdare # So fam W@ AT Sar ¢ F qudady Far s
1856 §. # T AWH Fa@A A gy @ AETH A & TR F AT JSIN FARIT AT [qA W
aﬁéﬂmmma:waﬁaﬁrmmmmaﬂrmﬁwmaﬁmmlsﬂaﬁvﬂ#
ﬁm:rmﬂmafrw&nrﬁmagWWW|ﬂquﬁr$waﬁmwmaﬁmq§ﬁrmm
Hleed weaet 3R PARgE ¥ wpfaE Shaw & 1§ sraor A€ §, sEfC s Aol ¥ AeE-chaw # s sEH
et aafasar & Rfa ) seladt odt & safeasw wmor # v & & JurdEre #r @ ggfy w1 R
AN T S AIg FUTA Fer F REw T A Af@T @ ¥ aAEER F 9ud 39w IR Age #
YA AT AT TAT S 916 T A & ey, e 3R A F gudE Far ) Awted e
Mt A Flaat & gurdare #1 N w0 af@T B 3@ qEfas qurdar e o

3YYFA TSHA T YGHT Al & AT T FT IR IABA:
- FARA & 91 YT Fal derdad H Fasr 39 Tgrm?
1. ITeetie 3R Siter
2. 3E 3R e
3. Qe 3R SIAART HIG

4, IMHf AR TAYIA Hic

Correct Answer :-

o dleolleh 3R Fel

28) T # ‘FUHAE FT FeH Th THR § TWeoeea@e & QAU # g3 FeoeaaEad! TSR Idah
T ¥ W FoqaATF F 0T S & 396 A3t 3 Iifpd ded w0F OF A1 IAF 9 ARAHART
A ¥ 39F FRFAY FRAWHANT, JgEafas JR TaTere @ A Iuh yfafkar A sw wifdw s ¥
aedfas S & for & ygfa & qurdare & Jow fam W@ A6 S ¢ F qadady Far s
1856 §. # %= A@F FaAEMI A vy W@ maﬁﬁ%mm#gmlmﬁWMWw
aﬂ?ﬂmﬂaamnﬁ%w&#a?r#w@:mmsﬁraﬂm#wm&ﬁnaﬁaﬁamms?ra’r«rl’rﬁ
m:rmﬂaﬁaﬂcramﬁmavwwmlﬁmq@%*waﬁmﬁmaﬁmwﬁmm
Hleed yeger AR fga B wgfaw shaa & #1§ smavor 7¢t 2, safav s oo F AwE-shasr & o 3@
o aeatadar & Ry fFam sewd adft & afeaw wwor F v F § qurdae fosw wgfy w1 R
A I FHF 91 I FAT FT [AHFH T & dfAd Qa1 81 qraaeh § II7 3999 traﬂthqar’as‘r
FYTIAIEl 3USATH AT AT 3UF 96 TF A @) Ty, e 3R M F gaTdaArd Fer # Awre e
Mt A ot F gurdare F1 ot w0 df@a A 7=, 3@ qEnfas Furdare FE1 T

39T ASHIT T GG AR & AT G HT 3R TABL:
- FARIT ATl TIAT ‘AGTH T 9T FIT-AT AT 9T F a7 F 78t 47



Correct Answer :-

« TS

29) T # ‘FUHAE FT FeA Th THR § TWeoeea@e & QAT # g3 FeoeaaEal TSR Iediah
T ¥ W FoUATNF F 0T S & 346 A3 3 Ilfhd ded wOF OF A1 A% g ARAHART
A ¥ 39F FRFAY FRAWHEAT, JgEafas dR TaEeee aF A 3uh Ak A sw wifdw Sea ¥
areafa® e & fREor f ygfa & qurdare # S R3m @ Aer Srar @ F quriard Far #w sy
1856 §. #WWW’&T@H@WW AEE ST F THRE § I AGAT FoaA A T W
#Wmm*qﬁﬁaﬁmmmmmsﬂm#wmﬁmﬁmls?rar’raﬁﬁ
ﬁmmrraiaﬁa:‘rqwﬁ'ma-gWWW|ﬁmm$wﬁﬁawmﬁmwﬁmw
#lm'&q—qﬁaﬁrﬁrmhmaﬁaa#aﬂémaﬁ% sﬂﬁvsam#mshaaaﬁaﬂm
mmﬁm#ﬁﬁaﬁmn#ﬂmﬁmﬂ%aﬁmw#m#awmmaﬁwmmﬁw
A T FUF TG JYTSAE Fell FT FHE T F af@T a1 1 qEATER F 9UH 39S trmchqa’a»‘r
wﬂaﬁismmmmmmmmﬁaamhmaﬁrmﬁ#wmmﬁﬁmﬁml
Mt A Flaat & qurdare w1 N w9 @G B T, 3@ qEfaE gurdar e

39T AGHIT T YGH AR & AT G HT IR TABA:

- vHfa & w7 R{AY F1 Aged R I & FROT aeas 3R Ner F qurdae F FAT Far
I=T?

W

0) T & Jurdare’ F1 Fed Th YR § TWeoradEag & AU & g3 FeoeadEaEl {TAHR Idfas
I ¥ T FoUATNF F AWOT IS A IAR At ¥ welfre ded wF A A 3A% UH ARAHRE
A ¥ 39F IR FREEA, awafRe IR TaEoeg B A1 IuH ufafkAar H sw 9w Sea &
aredfas S & for & ygfa & qurdare & Sow Ram @ A6 Sar ¢ F gy Far wroamer
1856 §. # %= AWF FaEMI A vy @ AETH A F TR F FIHT JSIN FARIT AT [qA W
aﬂéﬂwmm$wﬁﬁa€rmmmmmm#wmﬁMWlsﬂm#
ﬁvzrmziamafrqwﬁma'a'Wﬁrmlﬂmwﬁrﬁwaﬁﬁmmaﬁmwﬁmw
Hleed yeget AR e B wgfaw shaa F F1§ smavor 7¢t 2, safav s Aol F AwE-shaer & ot 3@
o aeatadar & Ry fFam selwd adt § afeaw wor F v F @ qurdae fosw wgiy F R
A T SHF 91 JYTAAE! ol FT QAFT T & AT gar 81 FaaEh & YA 39-a trmmqa’aﬁ



YA 3T AT TAT S 916 T A & ey, Maer 3T M F Turdardt For # [Awfaa fFam
Mt A Flaat & qurdare #1 N w9 @G B @, 3@ qEnfaE gurdar w1

3YYFA TCHA P YGHT Al & AT T FT IR JABA:

Wee - R (O § JUTHAIE) FeT FT AR AT AT §?
1.€ AKX

2. HAICTH T EdTel

3. HGH &Y

4. FACTH TARY

Correct Answer :-

o FATCIE dTal

Topic:- Social Science (SSC)

1) FDI stands for .| THSIaTs, e a3l
1. Financial Development Institution / tﬁlm'{m' STUHCT 3@2\'{?]?—[

2. Financing Data Initiative / B8 1497 3T 3fafufea

3. Foreign Direct Investment / B 33 SATCHT

4. Forex Directorate Institution / BPReFH STSYFEIRT SEITYRMA

Correct Answer :-

« Foreign Direct Investment / BRA IISIGC SALTCHC

2) Who stated that, ‘Grades cause an emotional reaction, either positive or negative. Feedback
causes you to think and engage, which is reflective learning’? /

fraq wg1 {5, I8, T HIaTH Ufdfhar ST HId1 & Sl U1 df YPRIHAD aT
TPRIAS 8 GPdl & | HfAyfd (Bisdw) iy e[ 3R oo ¥E@_ # Jgradr H«d1 8,
i fRia=iie Rrem g 12

1. Dylan Wiliam / 317l Taferast
2. Paul Black / Ofef EI\??)EF

3. Charles Beard / EIT?EIR? IERE)

4. Miller / ffeR



Correct Answer :-

« Dylan Wiliam / 3ol faferaa

3) Which Constitutional Amendment Act lowered the voting age from 21 to 18 years? / m

Haute T=ieE siftufan & Aag @Y 3y 21 | et 18 9¥ w1 & 7S A2
1. 615t /613
2. 621 /623
3. 66 / 669

4. 64t / 649

Correct Answer :-

. 615t /619

4) Which among the following are key faunal species that is being conserved and monitored in

‘Dachigam National Park'? / fArEffaa & @ 1= <t Uq 9 ug| waTfaar g, foreT ‘g
TP Fe # TR 3R FArfiaror far & veT 82

1. Golden Oriole / 3Mea 3T
2. Hangul or Kashmir Stag / W g7 HRARYT fexor

3. Yellow-throated Marten / TRIaTel

4. Musk Deer / eI ol

Correct Answer :-

« Hangul or Kashmir Stag / '67{1?—[ T HANY feoT

5) Which Commission recommended that appointments of Governors should be strictly non-

partisan? / mmﬁmﬁ%mﬁﬁmﬁmﬁq&mﬁﬁ
gI-1 Tfee?

1. Malimath / ATfIdAS
2. Thakkar / dheh{
3. Sarkaria / GIRTIRAT

4. Punchhi / g@f



Correct Answer :-

« Sarkaria / GIRIRAT

6) Which school of philosophy propagated Project method of teaching? / E'FJT-I'YI'IW > foy faemea
= fRreror &t ufvae n usfa &1 y=rR fear

1. Naturalism / Jepfadrg

2. Pragmatism/ <IdgRdIq

3. Constructivism / {IATdIe

4. Existentialism / 3T&dcadig

Correct Answer :-

« Pragmatism/ <IdgRdIq

7)  Match List-I with List-IT and select the correct answer using the code given below the Lists:

List-I(Text) List-II{Author)
A Kitab-al Hind 1.Ibn Battuta
B_Eihla 2 Al-Biruni

C Humasun Nama | 3 Lahori
I) Badshah Nama | 4 Gulbadan Begum

- 11 & e - 1 &t fAermsr & IR et & ot lGw a1 i &1 3adher e |61 3cck
T

FE-I(ETT) T -1 (e )
A Tohdre-31e fgeg | 1. Seo aqar
B. Rgar 2. HA-TaEAr
C. ‘g‘ﬂﬁ':r:arm 3. IRIRT

D. SIGeE AT | 4. A[cTdce Ja1H

1. A-3, B-4, C-1, D-2
2. A-3, B-1, C-4, D-2
3. A-2, B-4, C-1, D-3
4. A-2, B-1, C-4, D-3

Correct Answer :-



« A-2,B-1,C-4,D-3

8) ‘Sustainable Development Goal’ is the universal action plan to end poverty and protect the planet
and ensure peace and prosperity. ‘Climate Action plan’ of SDG is in which goal among 17 goals? /

ad faera a5 Wi B gurE $ iR 77 $1 38, Fifa R wufE ghfda w3 & g
A We HrE 9T 81 TSl 1 'Saarg SR aier 17 d8a § A S 91 987 82

1. Goal 17 / o1& 17

2. Goal 13/ T1&3 13

3. Goal 11 /&8 11

4.Goal l/ol&T 1

Correct Answer :-

« Goal 13 /1&g 13

9) The primary source of data is: / 3T &1 MYRS wWa %:
1. Biographies / ITcHABATT (STAITHY)

2. Bibliographies/ J¥de Ff=ram (faerferaiambr)

3. Commentaries and treatises / Iel-fevaforar 3R 3o
4. Proclamations / ETYOTTT

Correct Answer :-

« Proclamations / ENTYUTT

10) The Andaman and Nicobar Islands are submerged parts of the mountain range called ./

3isHH R FeleR gu wig Udd 49l & TaHd I B |
1. Arakan Yoma / 3RTehTel JTHT

2. Askai Chin / 37818 O

3. Pegu Yoma / U3 ITHAT

4. Tien Shan / faaT et

Correct Answer :-

« Arakan Yoma / 3RTehTel JNAT



11) What is not true about the art and architecture of temples of Khajuraho? / @srmer & #fet
1 For AR aegFer F v F FA1 I T 8?2

1. Khajuraho temples contain erotic art inside the temple. / @Xrel #AfGIT # AT & 3T FHrHD ol
Iedfde ¥

2. Temples were made of sandstone. / #HfEX T3 TeR & 9= 9|

3. It was built in Nagara style of architecture. / 38 arEgehell & FamsT Aell H TAT I=AT AT|

4, The columns and architraves were built with megaliths. / Y 3R amjﬁwq eIy 9 CRILRILY
|

Correct Answer :-

« Khajuraho temples contain erotic art inside the temple. / TR I & AR & 37T FAD Hell
Healae Bl

12) Which of the following site is famous for stupas, monasteries, temples and pillars? /

famafaf@a & @ i a1 T Fqu 7], AR i w@ot & o ufdeyr 82
1. Khajuraho / @s[tre!

2. Ujjain / 3ot

3. Vidisha / fafeem

4. Sanchi , @rdy

Correct Answer :-

« Sanchi , @r=h

13) The author of famous Gita Govinda, Jayadeva was court poet of: / yfagyr “dfiq Mfdg” &
AGH, ST FIh GIaNT Hfa &

1. Lakshman Sena of Bengal / Somel & ol&#H0T A
2. Prithviraj Chauhan / qedRTsT dige

3. Gopala / nurer

4, Harsha / &§

Correct Answer :-

 Lakshman Sena of Bengal / @9Tel & <& HUT A



14) Article 356 of the Constitution is related to the imposition of rule in the state. /

HfaUTe T AHTede 356 fhelt s A ATHT AT FI § Ha e 8
1. President’s / ITEUTA
2. Chief Minister’s / W’ff

3. Prime Minister’s / TTeTHAT

4. Governor’s / TraIUTel

Correct Answer :-

. President’s / TTgufa

15) What is the percentage share of agriculture in GDP during 2013— 14? / 2013-14 % g,
ShErdt F FR 1 afaera e Fre?

1. 15.9%
2. 13.9%
3. 10.9%
4.20.9%

Correct Answer :-

e 13.9%

16) RBI is considered as the lender of last resort for ./ 33T Y ¥ faw
TR Fotgrar ATAT SATT &

1. The cooperative banks / T Sept

2. The Regional Rural Banks / 8731 TTHTOT cfepi
3. The commercial banks / ATOToT® i

4. The Government / HIhIX

Correct Answer :-

« The commercial banks / IO oI i

17) In which language was Rajtarangini written by Kalhan? / FegoT of ToTaR [aroiY e smer &
foe a2



1. Prakrit / UThed
2. Devnagari / =TI

3. Sanskrit / TEPc
4, Pali / UTell

Correct Answer :-

« Sanskrit / HEpd
18) In which year the NEP was introduced? / TeT$d} fFq a¥ & & 1 15 o

1. 1991

2.1992
3. 1990
4. 1993

Correct Answer :-

e 1991

19) Who among the following did not belong to the group of ‘Moderates’ in the formative phase

of the Indian National Congress? / A#=ifaf@d # & #ia sRdw ITSET HTAF & IRAS G &
TRAITAA & FHE @ g ftT ad a2

1. Gopal Krishna Gokhale / 3TTqTer HTUT el

2. Dada Bhai Naoroji / GIaT TS AR

3. Bal Gangadhar Tilak / dTel 379 fdiel

4. Surendra Nath Banerjee / ﬂ'l‘;\’ ATY TSI

Correct Answer :-

« Bal Gangadhar Tilak / dTef I19TTeR feleh

20) Who is a person who holds an office, not because he/she is elected to that post, but by virtue
of the fact that he/she holds another office called as? / 9§ HlIT sqfFd % 3 T FETIT H FF
FIAT 8, FATAT 781 fF a8 39 ug & v gom aran B, e 39 oo F 3R w1 fF 9 v I
HHATET & FE FIAT ¢, T FEd ¢

1. Ex-officio / Ueel



2. Claimant / alaall
3. Ex - Ante / TehH-TC
4. Stakeholder / ¥R

Correct Answer :-

« Ex-officio / Uce

21) Who appoints the Advocate-General for the state? / 7o & T AgIfAaeEar &Y ﬁl’gﬁ-‘d ST
FIAT 82

1. President / TTFUfcr
2. Chief Minister / HEIHAT

3. Parliament / OIS
4. Governor / TodUTdd

Correct Answer :-

o Governor / TadUTel

22) A test that predicts the future performance of a student in a particular area is known as: /

T qeTor Y R ARy & o v o F sy & vl i srisgarofl sar g, 3Hsa T A
ST ST &

1. Diagnostic test / AT {eich GLI&TOT
2. Prognostic test / GaTHTHT TT&T0T
3. Achievement test / SUcITe)T UT&T0T

4. Paper Pencil test / ShTITST UTrel GRI&TOT

Correct Answer :-

« Prognostic test / GaTHTAY TJ&TOT

23) India after independence relied on food crop supplies from USA under the Public Law
./ o fafer (qfeerss =) & aeTd FaaadT NIed & 91g HRd Wed FHa!
3myfet & fore wgerd T IR w At

1. 450



2.490

3. 480

4. 470

Correct Answer :-

« 480
24) among the following is an example of industries which are run with the help of
family members, friends and relatives. / ﬁ:n:rﬁﬁ?r & AHYY, Ush 1) 3ﬂ1ﬂ7T Cal

3aTeRT ¥, S IRAR & were, avedt 3 Redart # #ag & wome e §|
1. Large and Medium scale industries / a@ 3’ﬁ? AEH TR B th'rf
2. Capital industries / it 31T
3. Cottage industries / ﬂﬁ? 41T
4. Regional industries / 8131 34T

Correct Answer :-

« Cottage industries / gﬁélz L e

25) The industry which produces machine tools which are, in turn, used for producing other

goods for consumption purpose - / ﬁ@ﬂﬁﬂ%ﬁﬂmﬂmmﬁ SoraeeT 3Tsiler
¥ 34T W 3T IHATA! T 3G Fa & forT ITANT fham s @ -

1. Fiscal goods / YTSTepIdIT ER-T}”(T

2. Capital goods / CEﬁTI?f Eﬂ?fl’

3. Consumer goods / STHIHT Eﬂﬁ'(f
4. Perishable goods / faerira Eﬂﬁ"?

Correct Answer :-

« Capital goods / GaiaTd ER'—@U

26) The amount of water vapor actually presents in per unit weight of air is known as: / §aT &

9 SIS HR A 39FUT arsq Y AT Fgard §:

1. Absolute Humidity / 08T 3m&ar



2. Saturated Air / Hcd a1g
3. Relative Humidity / STUTEI 3Tem

4. Specific humidity / TTrg 3mear

Correct Answer :-

« Specific humidity / g 3méar

27) The Conference held in led to the establishment of Non-Aligned Movement (NAM). /
A ITAIT FFAST F FROT [ fA7qeT et (NAM) Fr st 93

1. Yugoslavia/ eI
2. Belgrade / deTdS

3. Egypt / f&&

4. Bandung/ E|T§3T

Correct Answer :-

« Bandung/ EI'I§'JT

28) The name of the teacher of Ajivika religious sect was: / 3Tl AT eMTfHF TUSTT & AT T
ol 4T:

1. Puran Kashyap / G3eT &hgU
2. Ajit Kshekamblin / 3TfIdT &Tepafored

3. Sudas / gard
4, Makkhaliputra Gosala / mﬁg? INRAT

Correct Answer :-

» Makkhaliputra Gosala / ZFI'EF@'ﬁIEET INRAT

29) The method of teaching that is suitable for developing democratic attitude is: / fRrator &Y
faftr St et TReHIor FF e #3= & o sugea &

1. Brainstorming method / faaR-#Y= fafy
2. Activity method / sTfafafer fafer



3. Lecture method / SITEATA fafQy
4. Historical method / Qié%li@aﬁ afe

Correct Answer :-

« Brainstorming method / f[daR-7Y= faf

30) The evaluation that is concerned with the performance of the individual in terms of what he
can do or the behavior he can demonstrate is termed as: / dg W S IfFd F YT & gaer
# ¢ & 98 4T T ST & AT T8 AT TGN TS TAd F FFHT 8, 39 A1 w1 e &

1. Formative evaluation / [AToTc® ZFJ\F?:I'I?F[

2. Norm-referenced evaluation / ETHTY -3 TRAT T HedTched

3. Summative evaluation/ TTcHD J-Lvdiqwo-l
4. Criterion-referenced evaluation / ATAGS - TG [ FHedATdhed

Correct Answer :-

« Criterion-referenced evaluation / FTCS - TE(3TcT e TTdhel

31) The proponent of basic education is: / FeT v & g+ §:
1. Mahatma Gandhi / HAGIcHT ey
2. Swami Vivekananda / H?-ﬂ?ﬁ ICCEG

3. Jiddu Krishnamurti / f57g poorafet
4, Rabindranath Tagore /X iaa\aal'a SR

Correct Answer :-

« Mahatma Gandhi / #AGTCHT I

32) Cooperative banks in India falls under the Banking Regulation Act of J AR H
TgHIY dF & Ifper RfaTae srffaws & sradta sma &

1. 1947

2. 1950

3. 1949



4. 1948

Correct Answer :-

« 1949

33) Which committee recommended for the creation of the post of District Development

Commissioner? /ﬁmﬁma@ﬁaﬂa%ﬁﬂﬁw%mﬁwaﬁ%#ﬁmﬁeraﬁ?
1. M.L. Dantwala / TH.Tel.gldaTell

2. Ashok Mehta / 3721h ﬁ%?lT

3.G VK Rao /Sl dl. &. 7@

4. Hanumantha Rao / %T:[«H?IT {Id

Correct Answer :-

« GVKRao/3i d. % g

34) Which of the following is a Greenhouse Gas? / faefaf@a A AT d NaEEIE T
1. Argon/ 3
2. Oxygen / 3iTa&ToT

3. Nitrogen / Ao

4. Carbon dioxide / PTI SBITFASS

Correct Answer :-

« Carbon dioxide / P STSHTFATSS

35) Which of the following is not included in Project method? / fRFAfaf@d & ¥ *leT NStwe
fafer & enfAa adi &2

1. Problem type / uiaw CHEL]
2. Projector type / UToleheX 8T
3. Drill type / fSer er8a

4. Inquiry type / SAHara T3y

Correct Answer :-



A o

o Inquiry type / $cIhdTIRT CTSU

36) Which of the following is not an aim of Social Science? / FFAfaf@dT & & a1 AN o+
et &1 v 3T AdT B2

1. Developing right attitudes / Tel aq?ﬂ?{% faeh [ el

2. Intelligent democratic citizenship / g%d-llrrl CICGUECIGIEUEGT]

3. Building social competence / ATHTTSD qcrm?ﬁja &1 fAAToT

4. Making a rich economy / Uch Hg YTTET FATAT

Correct Answer :-
« Making a rich economy / Uch Hg 3 JeTaqEAT AT

37) Which of the following is not the objective of teaching Social Science? / ffeRTd T Fr
ATATTSNSF FAATT Y IgTe FT 36827 AT 82

1. Social development of the child / = &l HIHATTND TR

2. Creation of leadership quality / s-\lcj_cd hr J[OTAHT T faToT

3. To prepare an ideal citizen / Uch 31MELT ATTRE IR HIAT

4. Memorization of the events / ET&AT3T T THIOT

Correct Answer :-

« Memorization of the events / ETEAT3 T THIOT

38) Which of the following institutions was not founded by Mahatma Gandhi? / fAa=faf@a &
¥ FieT T HHYTA ATIAT el & Gy GATR A1 R arar 4

1. Seva Gram / TdT ITH

2. Phoenix Ashram / Bl A

3. Banaras Hindu University / SeIRE &g faerafaarer
4. Sabarmati Ashram / TTERHAIT ITHHA

Correct Answer :-

« Banaras Hindu University / 9IRH f&eig_fae@iadarera



39) Which of the following was the most important reason for lowest sex ratio in the 1991 census
of India? / FATATET 7 F 74T 1991 7 HRT FT FTeT0TeAT F FIX FooF TN F7 HIR
HgcaqoT HROT AT?

1. Sex selective abortion / &edT 3UT AT

2. Malnutrition / ?fCI)I'EI'UT
3. Son preference / §F UTAHhAT

4. Undercounting / 3TTUTAT

Correct Answer :-

« Sex selective abortion / chedT 30T Ec T

40) Which of the following is the most prominent problem that a teacher faces while teaching
social science? /ﬁmﬁﬁaﬁﬁm;ﬁmwm& 3t v et Y wrefare R
e & ERIeT 3Telt 2

1. Balancing the different learning needs of the pupils / faanfoat fr fafdea 319 3maegdanai
T Hford e

2. Helping all students to get maximum marks / THT BTT &l JTABTH 37k UTH Tl H AGG, Pel

3. Helping the students to meet long-term goals / STAT &I SrerepTfore w6t &y o A H HGG, el

4. Accommodation of diversity of the students character / Tt o IR T TATIYAT &1 3MTaATH

Correct Answer :-

« Balancing the different learning needs of the pupils / faanfeat fr fafdear 319 3maegdan3i
ol HJord eI

41) Which of the Indo Pakistan wars resulted in creation of Bangladesh? / HARI-ITfhEdTeT &
forer e & TROTATaEYT SiFaTge 1 AaAToT gam?

1. 1999
2. 1965
3. 1984

4. 1971

Correct Answer :-



42) Which among following schemes was first implemented for the alleviation of poverty in

India in the year 2015? / = f@a & @ wla @ Arem af 2015 # R 7 T 3770 & o
CIDEIKEE 1

1. Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / AGIcHAT ey ey
JTHTOT TSR IS HTATATH

2. Pradhan Mantri Gram Sadak Yojana / TUTTS AT AT TS Jrotell
3. MUDRA scheme / HgT DI
4. Central Cooperative Scheme / I TEDHRT AToTAT

Correct Answer :-

« MUDRA scheme / Hal DI

43) Where is the head quarters of United Nations situated? / H’gﬁ' IS¢ T AEITTT gl eud

&2
1. San Francisco / 3T WifaEhr
2. Washington / aTfiaTeet

3. New York / =g ?Ilvl?fﬁ
4. California / hierpIfaraT

Correct Answer :-

« New York / F{t’lﬁﬁ?

44) In the modern education system, the role of social science teacher is as: / EHT%]:'EIE fova

yuTTel #, HrATfore faarer fRvate Y it 39 yFR §:
1. Follower / 3-I§'€I'I'€ﬁ

2. Friend / f&7

3. Facilitator / 3-@?{‘\’]?5

4. Philosopher / GTAATEHT

Correct Answer :-



« Facilitator / 3-]@??]'05

45) How much is adiabatic cooling rate? / RusH offd e (vlaefes Hjﬁﬂ ) fra«r 2
1. 5° C/Km

2. 8° C/Km

3. 15° C/Km

4, 10° C/Km

Correct Answer :-

« 10° C/Km

46) Name the state which granted the ‘Golden Farman’ to British to trade freely on payment of
500 ‘PAGODAS’. / 38 Tsd &1 AT Fard forwet fafeer w1 500 w3 & sperarer W Fada &0 &
SATIR FA & FIT “Fergr ST fem |

1. Bidar / e

2. Bijapur/EiIEHgQ
3. Berar / R

4. Golconda / Uﬁ?l'g%T

Correct Answer :-

e Golconda / UIIF«@ Sl

47) Who founded the city of Agra? / 3T9IRT QET & TATYAT Hda Hr?
1. Humayun / g‘«FITii

2. Shah Jahan / &SIl

3. Akbar / 3heR

4. Sikandar Lodhi / f&réhey et

Correct Answer :-

« Sikandar Lodhi / [&eheT el



48) When was the First Battle of Tarain fought? / TRTgel HT YUH ¥l FHd ST AT UT?
1. 1206 A. D.
2. 1195 A. D.
3.1191 A. D.

4. 1175 A. D.

Correct Answer :-

« 1191 A. D.

49) The study of ‘Man’s ethos’ is: / AT & TAPTAR’ BT a4y A= BT 8:

1. Psychology / H‘I’&Fﬂ?ﬁ?ﬁ
2. Sociology / AIfATelisi

3. Anthropology / Tyl
4. Geology / ToIaTeIrSiT

Correct Answer :-

« Anthropology / TUTATelioil

50) Which of the following statements is correct regarding social science? /

fuafafad 8 @ o919 91 FY= Imfore [{gE & J9y A 981 82

1. Social Science can be optional at school level. / AT [a=1TeT faaTerd TR O dehleTdd &
Hhel &

2. Social Science studies only the events of the past. / HTHTToID [d<iTeT chdol 3T T TEAT3 T
AT FXAT & |

3. Social Science is a harmonious blend of various subjects. / ATHATISI Ta<iTel, fafdeer fawat ar
ATFHSTEIOT fHsoT § |

4. Social Science subject matter changes according to the ideals of the ruling party. / STHTS® fasm faw
I, AP T P AT & AR I&adl ¢

Correct Answer :-

« Social Science is a harmonious blend of various subjects. / ATHATTGID Ta=<ire, TATde= faw=t ar
ATHSTEIYOT 0T & |



51) Students re-create the teachers’ apparatus in which a paper clip tied to a
string ‘moves’ over a magnet. This method is called . [ BT, Rrere Iuw R
T:gT B &, ForaH TP gao & SR TP R J 471 TR foaa o siran 21 59 fafd
G| Hgl T g

1. Inquiry Resolution / S WFT

2. Guided Inquiry / fAEIT godre

3. Open Inquiry / 37194 J8drs

4, Invitation to Inquiry / S & forw faeoT

Correct Answer :-

« Guided Inquiry / &R goars

52) An observation which is written like a short story is known as: / DIt HEHL B
e fafa ue s A T # SH1 e 8

1. Conduct Register / El%?lg_cf 3 i?ﬂ\a

2. Anecdotal Record / SUTEITATCH® Repls
3. Teachers Log Book / TI&Teh o191 eh

4. Cumulative Record /W Reple

Correct Answer :-

« Anecdotal Record / SUTEITATHSD XhlS

53) Who among the following was popularly known as the ‘Frontier Gandhi’? /fFFafafaad a

foa wfear Wit & ArH A ST SIEr 912

1. Maulana Abul Kalam Azad / ﬁ?l'l?-IT}Igd helTH TG

2. Igbal khan / 3chdTel WleT

3. Abdul Ghaffar Khan / 31@%(4 ITFPI Wl

4. Hasrat Mohani / @83d #I'i‘»?ﬁ

Correct Answer :-

o Abdul Ghaffar Khan / 31@%01 ITFHIY Yl



54) Who founded the Ramakrishna Mission in 1896 to carry on humanitarian relief and social

work? / 1896 T WA IMgd 3R IS ST FTRT I & fore I wr iR &1 wima=r
fPaa o

1. Swami Vivekananda / Wltﬁﬁaw

2. Ramakrishna Paramahansa / ITdHPTUT ERTHW
3. Swami Dayananda Saraswati / TTHT GTelg TXEIAT

4. Blavatsky and Olcott / alTdTcEh 3R Hiehic

Correct Answer :-

o Swami Vivekananda / Eﬁﬁaw

55) In which year was the Dutch East India company formed? /Sd '&‘W '&"%TIT HU BT T3
o o  foram ram ur?

1. 1616
2. 1620
3.1614
4, 1602

Correct Answer :-

« 1602

56) Where in the “Ninety East Ridge” submarine volcanic ridge located? “dATS+T¢! $¥¢ = &
R SaTamgat gl (Ren wal fRua 82

1. Indian Ocean / 1%?:" HSTHTI
2. Arctic Ocean / 3TThieeh HSTHTIN

3. Atlantic Ocean / 3cellfed HAGTHTIY

4. Pacific Ocean / U AGIATIR

Correct Answer :-

57) The largest contiguous cotton-growing region in the world is located in which among the
following countries? / PFATAT@T A ¥ fFT o1 F fea #1 o 781 AfFARd FIH U &7
fua @



1. China / 9l

2. United States / Fl'ﬂ?ﬁ T AR
3. India / AR

4. Pakistan / QTfohEcTel

Correct Answer :-

« United States / H’ﬂ?ﬁ T ANPT

58) The only two landlocked countries of South American continent are / gfeyor rAREY
AEIEAIT & Fael &Y FUA-FE &2 gl

1. Surinam and Guyana / '\ﬁﬂﬂ'l'ﬂ 3R IITAT
2. Columbia and Paraguay / SlelTarT IR W99
3. Bolivia and Paraguay / @teitaar 3R t(R19a

4. Ecuador and Parana / SEFATSR 3R URTT

Correct Answer :-

« Bolivia and Paraguay / el T2 IR W

59) Which among the following is the lowest level of a body of water such as an ocean or a lake?

| frafaf@a & & a1 AgrEER A1 e St STer Y 3H1E FT IS FAEAT T E?
1. Demersal / AT

2. Neritic / ARfeH

3. Benthic / §feyeh

4, Pelagic/aﬁ'%ﬁﬁ

Correct Answer :-

« Benthic / 9=k

60) Who was re-elected the President of INC at the Tripuri Session in 1939 by defeating
Gandhiji’s candidate Pattabhi Sitaramaiyya? / aeiisht & 3Fdlgar m HraRHAAT Y g
1939 & Bl @ & e w1 & sregar qafraifa fre ae?

1. Dr. Rajendra Prasad / 3f. Teig UHTG



2. B.J.B Kriplani / &1.31.&Y. Ut
3. Subhash Chandra Bose / HY g a9
4. Nellie Sengupta / =Teif @E?IHT

Correct Answer :-

o Subhash Chandra Bose / gsmr Ig g



